ENGLISH [}

School Based Assessment 2021
School Name (EMIS code):

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions:
(1) Use mask & keep at least 3 ft. distance from each other.
(2) Read carefully and attempt all questions.
(3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the
example given below. Example:1am _ my homework.

(a) does (b) did (©)) doing (d) done
(4) If more than one options are encircled in a question, no mark will be given.
Total Marks: 50 (Multiple Choice Questions) Total Time: 1 Hour
1. Identify the rhyming word for “Think". 6. Identify the past form (2nd form) of the
(a) Link (b) Quick verb “Tell”,
(c) Bank (d) Sank (a) Tell (b) Told
2. Which of the following can be used to (c) Tells (d) Telling )
7. “The boys are__ in the
make a compound word that starts with ground.”
“White™? (a) play (b) playing
(a) gate (b) book (c) plays (d) played
(c) colour (d) board 8. "It here yesterday.”
3. Identify the word which has silent “b” (a) rains (b) rain
sound. (c) rained (d) raining
(a) Bulb (b) Verb 9. “We________ come to your home
tomorrow.”
(c) Comb (d) Slab (a) have (b) shall
4. "“Helivesin____ village.” (c) had (d) are
(a)a (b) the 10. Identify the correct structured sentence.
(c)an (d) any (a) She book gave me a. (b) She a book gave me.
5. In the given picture, the boy is a 1 (c) She gave a book me. (d) She gave me a book.
kite. 11. "We a nice home.”
(a) has (b) are
(5 (c) were (d) were
% 12. “You do not want to go outside the room.
» What will you say?”
(a) making (b) buying (a) Go out, please. (b) May | go out?
(c) flying (d) selling (c) | am going out. (d) I shall not go out.
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13. Choose the adjective of size among the
following.
(a) Pakistani

(c) Round

(b) Big
(d) Red
14. “They are running fastly.” Identify the
category of the underlined word.

(b) Adverb

(d) Adjective

(a) Noun

(c) Pronoun
15. "The shopkeeper is selling books and
pencils.” Identify the compound word used

in the sentence.

(a) Selling (b) Pencils
(c) Shopkeeper (d) Books
16. Identify the word with long vowel sound.
(a) Big (b) Fun
(c) Tree (d) Won
17. Choose the imperative sentence.

(a) Ali is a student. (b) Open your books.

(c) You do not work. (d) Are they ready?
18. Identify the sentence with the correct
position of the adverb “carefully”.

(a) He drives his carefully car and advises me the same.
(b) Carefully, his car he drives and advises me the same.
(c) He carefully his car and advises me the drives same.
(d) He drives his car carefully and advises me the same.

19. Identify the word with a short vowel

sound.
(a) Sad (b) Ate
(c) Van (d) Pin

20. Choose the correct option to complete the

word “ma " meaningfully.
(a) tsh (b) tch
(c) sch (d) shr

Paragraph: Read the following paragraph
carefully and answer the questions given
below.
Dog is a mammal. All mammals have hair on their
bodies. People, horses and elephants are also
mammals. Hair protects a mammal’s skin. The hair
protects skin from getting scraped. Hair also protects
mammals from cold and heat. There are many other
characteristics in a mammal. For examples, every
mammal has a backbone. That bone is also called
the spine. Mammals are warm-blooded. That means
the temperature in their bodies is warm and usually
stays the same. Female mammals make milk in their
bodies. They feed the milk to their babies.
21. What do all mammals have in common?

(a) Hair and a backbone

(b) Scales and fins

(c) A tail and hair

(d) Backbone and fins
22. Which of the following has characteristics

of a mammal?

(a) Eagles

(c) Snake

(b) Horse

(d) Spider

23. Which information is true about dogs?
(a) Dogs have hair. They do not have backbones.
(b) Dogs have both hair and backbones.

(c) Dogs have both hair and backbones.

(d) Dogs have no hair and backbones.

24. Dogs have no hair and backbones.

(b) Birds

(d) Reptiles

25. The word “characteristics” means:

(a) Mammals
(c) Insects
(a) important (b) features

(c) difference (d) unusual
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School Based Assessment 2021
School Name (EMIS code):

Tehsil: District:
Student Name: Section:
Roll Number: Date:

General Instructions:
(1) Use mask & keep at least 3 ft. distance from each other.
(2) Read carefully and attempt all questions.
(3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the

example given below. Example: Tam _ my homework.
(a) does (b) did ik[_Cl} doing (d) done
(4) If more than one options are encircled in a question, no mark will be given.
Total Marks: 50 (Multiple Choice Questions) Total Time: 1 Hour
1. Identify the rhyming word for “Reach”. 6. Identify the past form (2nd form) of the
(a) Match (b) Teach verb "See".
(a) Seeing (b) See
(c) Catch (d) Much () Saw (d) Seen
2. Which of the following can be used to | 7. “saba is with her doll.”
make a compound word that starts with (a) playing (b) play
the word “Tooth”? (c) plays (d) played
8. “Last week, students ___ their
(a) brush (b) milk
school.”
(c) clean (d) white (a) decorated (b) decorate
3. Identify the word which has silent “t” (c) decorates (d) decorating
sound. 9. "The boys be waiting for
(a) Teach (b) Night the bus.”
(a) will (b) are
(c) Kite (d) Match (c) had (d) have
4. "Isaw __ elephant in the zoo.” 10. Identify the correct structured sentence.
(a) the (b) any (a) They have arranged a function in school.
() a (d) an (b) They have function a arranged in school.
. . L (c) They have in school arranged a function.
5. 1In the given plf:ture, thegirlis . (d) They in school have arranged a function.
lg ! 11.“Our school library ___ ten
-— thousand books.”
(a) reading a book (b) watching T.V. (a) was (b) is
(c) eating lunch (d) playing football (c) have (d) has
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12,

13.

14.

15.

16.

17.

18.

19.

20.

“Your brother is playing with glass. How
will you stop him to do so?”

(a) It is dangerous to do so.

(b) Share your toys with your friends.

(c) Hold it with your hands.

(d) Don't give it to your mother.

Choose adjective of colour among the
following.

(a) Brave (b) Blue

(c) Some (d) Small

“He advised me to never tell a lie.” Identify
the category of underlined word.

(a) Verb (b) Adverb
(c) Noun (d) Pronoun
Identify the compound word in the

following sentence. “"Sweeper cleaned the
bedroom in the evening.”

(a) Sweeper (b) cleaned

(c) bedroom (d) evening

Identify the word which has a long “e
sound”.

(a) Better (b) Sheep
(c) Parrot (d) Sets
Identify the declarative sentence among

the following.

(a) My brother is sleeping.

(b) Is my mother cooking?

(c) Go and sleep well.

(d) Please, do not sleep now.

Choose the sentence with the correct use
of an adverb.

(a) You run very fastly. (b) | am very tired.

(c) We work in an office. (d)He drinks water slow.

Identify the word which has a short vowel
sound:

(a) Stood (b) Food

(c) Pick (d) Strong

Choose correct option to complete the
word " el” meaningfully.

(a) Ghr (b) Shr

(c) Chr (d) Whe

Paragraph: Read the following paragraph
carefully and answer the questions given
below.
A female sea turtle crawls along the beach. She finds
a safe spot. She digs a hole to lay eggs inside it. The
sea turtle mother covers the eggs with sand. She
does it to protect the eggs from other animals. Then,
the sea turtle mother returns to the sea. Two months
later, the eggs hatch. Baby turtles dig out of the
sand. They cross the beach to the ocean. The little
turtles eat and grow in the ocean. They may live for
more than eighty years. Female sea turtles come
back only to lay eggs. Then the cycle of life begins
again.
21. Where does a mother sea turtle lay her

eggs?

(a) In the ocean

(c) A hole in the beach

(d) Inside bushes on the sea shore

(b) A nestin atree

22. According to the paragraph, where do baby
sea turtles go after they hatch?

(a) The ocean (b) The beach

(c) A river (d) A lake
23. The word “protect” means:
(a) attack (b) secure
(c) waste (d) break
24. Which information is NOT correct about
turtles?

(a) A female sea turtle digs a hole to lay eggs inside it.

(b) Female sea turtles come back to see baby turtles.

(c) Turtles may live for more than eighty years.

(d) Eggs hatch after two months.

25. Identify the thing with which the turtle
mother covers eggs with.

(b) Sand

(d) Feathers

(a) Grass

(c) Stones
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ISLAMIAT PART

SCHOOL BASED ASSESSMENT 2021 GRADE 5
— A (Objective Type)
Part-A: 30 Marks, Part-B (Nazra Quran): 20 Marks, Total: 50 Marks

SCHOOL NAME:

TEHSIL: DISTRICT :

Student Name: Section:
Roll Number: Date:

Use mask and keep 3 feet distance from each other.

Read carefully and attempt all questions.

A3 AT (e il LW
VP A )

Encircle the correct option of cach of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: How many Salah are obligatory for Muslims in a day?

A Three & (B)Foursy () Five &L

—e U u‘Jvu&LI Lo G i1ss _'iizdmw'f; 3)

*‘wu‘/u/w”’ Lasg sl Jg
(D) Six £

If more than one options are encircled in a question, no mark will be given.

bbb A I W L e iesiie Lt

Total Marks: 30

Part-A (Multiple Choice Questions)

| Total Time: 45 Minutes |

Instructions: Fifteen (15) Multiple Choice Questions (MCQs) are given in th!s part. Each question carries two marks.

- /‘,{!)LJ’}"/"-(J! Zg;aﬂlr(}l?ﬂl/é( (15)a.z S J] el

2%8@({2&3'&@/3'&@.{_5/’{}&}‘ :5/,’0'}"
It is recited when coming and going for Eid Salah:
Duas uj/b: (b)  Takbeerat o'/gé (@)
Ahaadiths &.sbf (d)  Tasbeehat =iz (c)
2l3ﬁ‘(L/:«ﬁ.zA£Q’ZV 26/.’1)'}"
The purpose of Muhajireen’s migration to
Madina was:
doing business ¢4t (a)
earning wealth (U's (b)
farming L/G/656 ()
silewng the plasre of o, (4 o
UL FS e bl S e” 74U
The land of Masjid-e-Nabvi 51,15k i
was taken:
on loan .l (a)
by paying money £ _/ii=d (b)
as a gift J“ (c)
in replace of other land L,gi,;d/» (d)

29?%}?&1454{410@: 28/,’0'}’
According to the Charter of Madina, Madina
Munawara city is called:

Islamic centre Ju-12, (b) Sacred city U (a)
House of wisdom =-L1; (d) Capital b (c)

Kiraman Katebeen write: :ugégfﬁl/ 141
the commands of Allah Almighty =61 (5 i (a)
man’s provision J.,6.L1 (b)
man’s deeds JuiZ uLi (c)
the destiny of man /&Syl (d)
The basic term of faith is to::+b}d:y’.JuV,,’ 24
SFAL L M il by (a)
follow the decisions of Rasoolullah (V;,VB,IJTJ‘;,): Jm}‘”
care for orphans t./JusSusE (b)
train the children well t/'f:-.f.}u‘?.-jtd/;m' (©)
take care of the needs of the poor %J?&«pﬁd@,ﬂf (d)
24‘-):25”(5&?'/&:«1(!#;7@"547&,}Aﬁl‘}‘(;/d 23/,’1)'}"
There is guidance in the Seerat of Rasoolullah
H‘?,Ls‘bﬂd‘;,} JJ\J‘ for:
domestic Matters & = bt £ (a)
political Matters <& = b+ (b)
social Matters & = o+ £6- ()
all matters of life & < = kb L $4 (d)
:ugLn..sb»,bfLLﬁ;ufvéq;U‘iﬁu 441y

Performing Friday Salah with complete
etiquette forgives sins of:

one month Zsl{l (b) one year ZJL- LI (a)
all life £ £5,L- (d) one week Z 2 £ (c)
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NAZRA QURAN AND RUBRICS
SCHOOL BASED ASSESSMENT 2021 GRADE 5
ISLAMIAT PART — B (Nazra Quran)

Total Marks:20

NAZRA QURAN AND RUBRICS
(/.2 10) (Ui« (;“’lsmdﬁy’ R |
b E e e Ui i £ e iy
:Rubrics
i}}’iu’/( 500 254 B2l J}/rJG’)Ur‘/)uﬂﬂ'ngf” I
= ui'?LJUL&,;:JJUTIJ:JVLng'ynd/djfm&b/;n
_u:ip+)/ IO{LI:«&L_.};:.«J}”.QJ:’/
-U:IL?QJ/'; IO{LI:«&UW»UQ/JJZVLM%@ -r
L b A8 S e Sem y AL S e
1t eSS S\ st R AL RSt

-u:/lgg;/:}4
bl botub Py o
(£10=5+5) 7))

(41540: =T Flalsser 201 e oo s T absst P15 W)
&L)EVL.Z?:’:.L:IJKL u:b'lLJ}Ul‘aJJL .f'_/z :cf“{au.:.y{
bl

(#5) k»>Z_ Iz :Rubrics
r@/L?LJ)ﬂJG’)U}"/)U}G"Laff‘_gf/cu:..aLA]ULEw -
Z d?b' DS, JJ}]M &’)/ v éx/’i&}’/( RPN
e A5l d T A
_uftgg;/ﬂ,;i_lp&g;.w»ug/Jijéul;@ i

S b3 e S AL S e

Pl eSS i Ui A A Ut e
eyt

Ll d o Py Lo

(/.2 5) 2741z ‘Rubrics
Al Y SIS e U T I -
-Q:ZQQJHSL';‘L

-‘_{l‘ag;f,‘q{. Lb&g}x}y;)ug/uﬁbﬁjvéug@ -t
3uf.'c«/}‘d/Ll:».f.?;‘/})o;‘i{jaﬂ&;”ugﬂmuﬁ%ry -r
LA

LA bt e 25 Taus i
Lkl Lo By o

St Pk G I Qb ab s 9 A1y
What benefit did Muslims get from victory in
Ghazwa-e-Badr?
All non-believers became Muslims zfnuW}K(L? (a)
Islam began to spread rapidly é&{ =y st (b)
All Muslims became rich zfn/;dubk/‘fﬁ (c)
Hypocrites got exposed L= 62+ (d)
73"}47&‘5.419 &h“}‘ iﬁdﬂ/Lu‘lj/)jluf/ !;JJL()J/‘.? 210/,2 Jl}”
?d)gﬁlfuﬁz_/yc'::aﬁ‘gquﬂ
In Roman King's court, which attribute of
Rasoolullah H?l,.u‘l;,lﬂd‘,,“k A_UJ" was testified by
Abu Sufyan?
Steadfastness =1 (b) Fulfilment of promise (. d/:'_,w (@)
Frugality $/5e=c" (d) Forgiveness Y (c)
24‘_;l/ad;ﬂ 11,4 )y
Compassion (kindness) means to:
Compassion (kindness) means to: L'fy;&u(w/» (a)
treating others politely (7’ (b)
forgiving t./_ib+ (d) speaking the truth U¥& (c)
e bl L LIS bt 112 A1
Frugality (moderate spending) makes a person:
poor —: / (b) extravagant &+ (a)
miser J£* (d)  prosperous JbU% (€)

e Qs s 36 D3 Ses S Be T 13, A1
The safety of which divine book has been
guaranteed by Allah Almighty Himself?

The Torah =17 (b) The Holy Quran 4£u/7/ (a)
The Injeel ‘_/}f' (d) The Zaboor 4 (c)
& L1 dufe PG s o 184y
Who became frightened because of Hazrat
Isa's (L popularity?
Jewish scholars L‘éd»;: (b) His apostles u’ﬂiibj (a)

Christian scholars de (d) Rulers ut/g ()

e bl UTHITL” 15 A

Who is called "Jami-ul-Quran" (The compiler of
the Holy Quran)?

Hazrat Abu Bakr Siddique <¢( «'ﬁ!u"ﬁ&jﬂ/@g/”? (@)

Hazrat Umar Farooq <¢(& «ﬁ!&r&){ﬁ/@/’” (b)

Hazrat Usman Ghani y&@«hu@&juﬁfoﬁ? (c)

Hazrat Ali Al-Murtaza 26 D=2 (d)

| Grade-5, Islamiat Paper-A, SBA |
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SCHOOL BASED ASSESSMENT 2021 GRADE 5

ISLAMIAT PART - A (Objective Type)
Part-A: 30 Marks, Part-B (Nazra Quran): 20 Marks, Total: 50 Marks
SCHOOL NAME:
TEHSIL: DISTRICT :
Student Name: Section:
Roll Number: Date:

Use mask and keep 3 feet distance from each other.

Read carefully and attempt all questions.

A3 AT (e il LW
VP A )

Encirele the correct option of cach of the Multiple Choice Questions (MCQs) as shown in the example given below.

Example: How many Salah are obligatory for Muslims in a day?

A)Three & (B)Fourspy  (C) Five &1

el uiuzdwfj;éf et 607 bye? éZng?w,?} 3)

9%}'&‘/@: J L}(jw:;lhu;uju/ :Jf“
(D) Six #

If more than one options are encircled in a question, no mark will be given.'

bbb A I W L = iesiie Lt

Total Marks: 30

Part-A (Multiple Choice Questions)

| Total Time: 45 Minutes |

Instructions: Fifteen (15) Mulfiple Choice Questions (MCQs) are given in this part. Each question carries two marks.

-u.?/,‘;::édlr/;-u}Z@:aUlrQl’?ﬂl/?/U 5)a.x; U2 J] el

e Stlwiniige Hold LSat 54 )
Wearing clean clothes and applying fragrance
for Eid Salah is:

Waijib —=1s (b) Farz %} (a)

Mustahab % (d) Sunnah =* (c)
Muakhat-e-Madina means::c sl 4= by :6/,‘])!;/

unity between non-believers and  sFIU% sz sL6 (@)
Jews
establishing relationships with Pbe bl syt (b)
Jews

bond of brotherhood between S Kl Zl (C)

Muhajireen and Ansar R
reconciliation between Banu St b s (d)

Nuzair and Banu Quraiza

‘e e NI TGS T L)
The reward of offering one Salah in
Masjid-e-Nabvi is equal to:

five thousand Salah Luuv}ygég (a)
twenty five thousand Salah Lwi%%u}‘i (b)
fifty thousand Salah Zusilt:U s (c)
_ one lac Salah Z s U4 1Ll (d)
S sfp BL M NI w0 82y
According to the Charter of Madina,

establishment of law and order was the
responsibility of:

all tribes JJ/G(L? (b) Ansar (L1 (a)
Jews Jui»;: (d) Muhajireen J@ZL{ (c)

On the Day of Resurrection, . . —
the good deeds of humarﬂéuu.furz 1 Al

beings will be placed in one s (ol ,
side of scale and in the”'u{é;c‘ffuL"W‘""—)?~-:':’l
3&): l?tf:uff—ﬂ’.«_ 9

other side of scale:
good deeds U7 (b) successes Jki*¢ (a)
blessings U+ (d) evils U{1z (c)
:4‘_,3315KJWL:«;’J&G«E:&(&/LuVJTuy 24l
According to Surah Aal-e-Imran, the mean of
acquiring Allah Almighty's love is:

spending for the cause of 7500500 b (a
Allah Almighty Y JUJJ @

being affectionate towards the | /. - J ﬁu@lﬁ ‘jﬂ (b)
creature of Allah Almighty ’

providing social service

i:/@j‘.’..;.vué (©)
be submissive to Rasoolullah 7 f_k RLATIPRC)
KL;I,‘L%‘U,(JT&Q “hwp tSes lb'd?k;fwb

PATI cz/u:ﬁé,égpu,g(él/,lJ’u»L,;,/ 31

To clarify the issues and rules of Saom, we
have to refer to:

SASUITE (b) SHIT (a)
SAE e T D e (d) SASUATBET (o)
?4_“LJ;L:I;KL/QJ/::HL;Z;V)EJ]W@&{LQT; :4/,’Ulr‘

In the Holy Quran, what the Muslims have

been ordered to do at the time of
Namaz-e-Jumu'ah?

to help the orphans - .U (a)

to wear new dress ¥ U (b)

to stop marketing -/ 733 5s 7 (C)

to spend money generously 2 Jeste = 2 (d)

| Grade-5, Islamiat Paper-B, SBA |
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BP0 P T 15 )i
What was the name of the father of
Hazrat Usman Ghani (i Jnu")?
Affan i (b) Adnan yt« (a)
Sufyan ¢l (d) Salman gl (c)
NAZRA QURAN AND RUBRICS
SCHOOL BASED ASSESSMENT 2021 GRADE 5

ISLAMIAT PART - B (Nazra Quran)
Total Marks:20

NAZRA QURAN AND RUBRICS
(£#10) (Ui oAt o -1
_Ltg&“&g;:,/r.._ﬁéf‘;utuimuguJ;ﬁcé;ﬁ:f{L!xagl¢
‘Rubrics
éz/;’;d/(,lwu'}"u‘ZwL?LJ)/cJG)U}"/)u)ﬂ'Laf I
Lu:?L#JUL@J)U:J’)TAJVLﬁ‘)‘-ﬁﬁ)({d)//)’&’u&ﬂ
_uf‘gé.)/:)IO/‘:i.l;a&gj:.«»’_i:FJ/
_U:/L?%)/..} IO{Lb&QJMJJUEJ):JiJZVLM.@?@ -r
L e A8 S e Sem y AL kS e
Pl eSS o s Ukl A AL st e

-uf/l‘a%)/',}4
byl botub By o
(£10=5+5) )

(415 40:cTe@1etiy 201 ecTo M (T Lebante P15 W)
BUAL A LS S se E g i tte i
bl

(4£5) k»Z Iz :Rubrics
:@/L?LJ}%JG’)U}"/)U}J}"Laff-{’{cu:b.aL.s;‘ULZw) -
) fuwﬁ;urw» JJ)]/)’&’)/ in, Lu’/( il 2y
S AL e v a5 LSt AL
ALl o foa s Al e ngS
FAAL Ul v S A3t e Sl
_L,fll.a%)/':}zt'lU:O/ﬂJ.L/Ji?._-:)JLQ)%’B
byl Lol By o

(£5) 741z ‘Rubrics

Q1 Sl W KL o U S E
Z}MJ)UQ/JJZVLM%@ -r _ufllge;/:)Sc’;c‘;.
ugja.&;!’ugjsd’(t»iuﬁ”%r” i -gf“/lg%:/:)ﬂ.{.;b«&l,}
L&)T/ﬂuﬁf’a - f,lgg:/:)3ui'o/ﬂd/'¢l:«x)y;:
Lpord lealsb Py o - be A 20148 bozent

7/

-l

:%gt/u:’;l’.;_m&ﬁ;&{uiwu:%;,j :9/,’Ulr‘
We learn from victory of Muslims in
Ghazwa-e-Badr to:
JEELSUFES () =Bl e (a)
B sad U (d) A5 b (o)
YA o TS0 110,21

Jewish tribes were exiled because of:

attacking the meadow cngL/,lf(:af 1z (a)
attacking the Muslims U n 8ol (b)
deployed at hill pass z_,pu(L/,lé;

not participating in digging of 4;.»&&&;( J# ()
trench 4;,350/
not observing Misag-e-Madina a,»:d/L/QJ{;.uJL‘f (d)
Lw(ﬁﬂ,wﬂd@,} RIS Bl 114
1 E P e STt Pt A A
On seeing the sparrow upset, Rasoolullah's
H?l,,ts‘u,lﬂd‘,,“k JJ!J‘ ordering to put sparrow's
young ones back in the nest shows
Rasoolullah's H?l,.ts‘l;,lﬂd‘,,"la ifm}‘ :
patience and forbearance /Jf/ (b) justice /J,w (a)
compassion (kindness) /d:(/ (d)forgiveness L (c)
‘e Fhlie & WAL Uypme JU 12401
Which practice saves us from resorting to
begging from others?
Truthfulness Yl =1 (a)
Frugality (moderate spending) $/b5«=:6" (b)
Justice and equity s e (d) Tolerance $.bhs (€)
S duLede ey drss 13 Ay
How many virtues are awarded on reciting word ";31"?
Thirty o (b) Twenty U2 (a)
Fifty Uz () Forty Ul (c)
St slaugul Kias 144
Religious leaders of Bani Israeel made
amendments in Torah because of:
directions of the Governor {;:Ji.bf (a)
fadilitating people - Z 3L-T6us? (b)
reforming people <& L usi$us? (c)
worldly temptations 46| éud,g;; (d)

| Grade-5, Islamiat Paper-B, SBA |
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Mathematics E

School Based Assessment 2021
School Name (EMIS code):
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions: VLudy‘Zéﬁ
(1) Use mask & keep at least 3 ft. distance from each other. u"{,l-fb(.)g}f f/ #/u" JJ Lal) /U!a"lb’._f’l.
(2) Read carefully and attempt all questions. - S S VUV Vulu" Y
(3)  Encircle the correct option of each of the Multiple Choice Questions ( MCQs) as shown the example
given below. _auﬁth(u" J@‘JB)LI Wu” go/b/-_u'}’ LJV&B‘U /5«
Example: 64 + 8 =
(a) 4 (b) 6 ()3 (d) 12

(4) If more than one options are encircled in a question, no mark will be given.

—(4-—5LJU"//J/)IL'FLﬁaII))fLVUiULJLJJJ'}”JQ’

Total Marks: 50 MCQs Total Time: 1 hour
Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part. Each question carries two marks.

A2l vt L s b SN (25) o e
Questions -yl

Q.No.1. 8000 +41 = | 5.2 _
(a) 8041 (b) 8410 Q-No.8. ¢ 55 =
(c) 12100 (d) 80041 ) 5
Q.No.2. 76925 — 5986 = @) 35 (b) 5
(a) 70919 (b) 70929 3 5
(c) 70939 (d) 70992 (©) 15 (d) 15
Q.No.3. 621040 x 10 = Q.No.9. 366.7+ 10.4 =
Ea)) 2581480 Eg; 2318480 (a) 0.3771 (b) 3.771
c) 62014 104
Q-N?-;l-2 §g50 + 10= (b) 265 Q.Ngc.)1(3).7'7751,.29 — 44.84= (@ 3771
(2) 5o (d) 295 (a) 20.42 (b) 30.45
Q.No.5. 10 + (28 + 7) (c) 25.42 (d) 34.42
(a) 10 (b) 14 Q.NO.11. 0.011 x 7 =
(c) 38 (d) 45 (a) 0.0077 (b) 0.077
Q.No.6. LCM of 3, 6, 9 and 18 is: (c) 0.77 (d) 7.7
34,(}"559'55(18/5'9:6:3 Q.No.12. 0.076 x 100 =
(@ 3 (b) 6 (a) 0.0076 (b) 0. 076
(c) 0.76 (d) 7.6
(©)9 (d) 18 Q.N0.13.72.4 + 10 =
QNo.7. g -3 = (a) 72.40 (b) 72.04
i : (c) 7.240 (d) 0.724
@) 3¢ (b) 3¢ Q.No.14. 9.7- (1.6 + 0.4) =
i 5 (a) 4.6 (b) 4.7
(©) 30 (d) 30 (©) 5.7 (d) 8.1
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Q.No.15. Saima bought 8.25m cloth for her

brother and 4.25m for her self.The total cloth

Saima bought is:

Ao g PR A.25 & 1 428.25 L e 1l
S

(b) 12.5m ~

(d) 12.05 m~

(@) 12.4m ~
(c) 12.04m ~
Q.No.16. By converting 8 weeks 5 days into
days, we get.
S S R JL Y JULS BT vt
(a) 48 day > (b) 56 day >
(c) 61 day ¢» (d) 85 day w>
Q.No.17. How many minutes are in 10 hours?
«.U“:ani’uta‘{m
(b) 60 minutes ==

(a) 30 minutes ==+

(c) 70 minutes &+ (d) 600 minutes ==+

Q.No.18. 91metres = 491 =
(@) 910 cm ot (b) 9100 cm K

(c) 91000 cm <% (d) 910000 cm 3%
Q.No.19. One day the temperature of Okara
city was 40°C.ThisTemperature in Fahrenheit is:

BRIV EIY Ufgkc#yUJli_lg40°C:a/|],w) Ay

(a) 101 OF (b) 102 °F

(c) 103 °F (d) 104 °F
Q.No.20. 34% =

(a) 0.00034 (b) 0.0034

(c) 0.034 (d) 0.34

Q.No.21. If cost of one copy is Rs. 15 then
price of 5 such copies will be:
_JnJJUgKS&IIﬂ%u 15@2({@&.@1’1
(@) Rs. 3 & (b) Rs. 10 &
(c) Rs. 20 & s (d) Rs. 75 & »

Q.No.22. In the given figure, <X is a/an:

—e 2x B 5
(a) acute angle .slssb A
(b) obtuse angle s> o

(c) reflex angle .l . 8

(d) straight angle ,)UJ’}

Q.No.23. Each side of a square shaped clock is

17 cm. Its' area is.
e IS e KEF128US TS L SEL Kk
(a) 68cm
(b) 68cm’
(c) 289cm
(d) 289cm’

17cm

17cm

Q.No.24. If the average of 10 quantities is 30,
then the sum of the quantities is:
o oK I 30L1 U5 101
(a) 20
(c) 100

(b) 40

(d) 300

Q.No.25. The bar graph given below represents

the temperature of four different days of

Lahore. On which day the temperature is

minimum?

e e b7 anbUh il €y S E
?4‘_(;./:,!7

(b) Tuesday &

(d) Thursday =/

(a) Monday z
(c) Wednesday >4

50 -
48 -
46 -
A4
4

40

38 I | .
36

34

; B

Mong Tuef Wodas Thuet?

Temperature (in °C)
(RL°C Y7 50
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Mathematics E

School Based Assessment 2021
School Name (EMIS code):
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions: el LW
(1) Use mask & keep at least 3 ft. distance from each other. U"“{ Lo GELAL A1 f/ ﬁ/u" el /UWIB’\.L/JL
(2)  Read carefully and attempt all questions. - St PUslyey P
(3)  Encircle the correct option of each of the Multiple Choice Questions ( MCQs) as shown ip the example
given below. ..c_lfi,lﬂru" J@‘d/ d;if L«vu" lﬁo/l:{uli 59£Jlr‘dls‘ﬂ /9-
Example: 64 + 8 =
(a) 4 (b) 6 ()8 (d) 12

(4) If more than one options are encircled in a question, no mark will be given.

..Kclabu’(/tj/ilﬂ.ﬁa/lnf‘f_ul.'ivLJ;...L/U*JI)’JQ’

Total Marks: 50 MCQs Total Time: 1 hour
Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part. Each question carries two marks.

A2l vt L s b SN (25) o e
Questions -yl

Q.No.1. 90000 + 32 = 5,12 _
(a) 89968 (b) 89978 Q.No.8. 2
(c) 90032 (d) 99978 5
Q.No.2. 58601 - 2300 = OF (b) 5
(a) 56299 (b) 56300 4 >
(c) 56301 (d) 56302 (©) 25 (d) 25
Q.No.3. 17807 x 10 = Q.No.9. 65.32+ 0.025 =
Eag 17283 Egg 1738780 (a) 65.343 (b) 65.344
c) 178007 17807
_ (c) 65.345 (d) 65.346
Q'N?Q;Le ‘155510 +10= (0) 616 Q.No.10. 44.62 — 0.33 =
& 651 () 661 (a) 44.29 (b) 44.28
.No.5. (10 +28) -7 = (C) 442.9 (d) 442.8
Q ?a;-’ 21( 0 +28) (b) 31 Q.No.11. 12.05 x 12=
(c) 38 (d) 45 (a) 1.4446 (b) 14.446
Q.No.6. LCM of 4, 8, 12 and 16 is: (c) 144.46 (d) 144.6
—C‘-L}"JW'}5K16J}'12‘8‘4 Q.N0.12. 0.087 x 10 =
(3) 8 (b) 16 (a) 0.0087 (b) 0. 087
(c) 0.87 (d) 8.7
(c) 24 (d) 48 Q.No.13. 163.14+ 10 =
Q.No.7. 13- (a) 0.16314 (b) 1.6314
5 (c) 16.314 (d) 1631.4
(a) iz (b) 15 Q.No.14. (9.7- 1.6) + 0.4 =
3 S (a) 8.1 (b) 8.5
© 15 (d) 15 () 9.3 (d) 11.3
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Q.No.15. One litre of petrol costs

Rs.103.97.Cost of 2.5 littre petrol will be:
red $Us g 42,500 5,103.978 SUss 1))
(@) Rs. 259.924 5, (b) Rs. 259.905 £

(c) Rs. 259.915 & (d) Rs. 259.925 &

Q.No.16. The number of weeks in 98 days are:

~pEE S UH98
(a) 12 (b) 13
(©) 14 (d) 15
Q.No.17. How many hours are in 360 minutes?
Sl nid L fa360
(a) 4 hours &~ (b) 5 hours &
(c) 6 hours & (d) 7 hours &

K51 =
(b) 5100 mm

Q.No.18. 51 cm =
(a) 510 mm X
(c) 51000 mm <¢  (d) 510000 mm 4

Q.No.19. The melting point of chocolate is

35°C. This temperature in Fahrenheit scale is:

e ey S SE e e 350Cs L KK

(a) 63 °C (b) 63 °F

(c) 95 °C (d) 95 OF
Q.No.20. 37% =

@ 1o (®) 105

(©) 13(7}0 (d) 1030700

Q.No.21. If the price of 5 pencils is Rs. 100,
then the price of 10 such pencils will be:

~Bred UM 10811002 Suki5 i

(@) Rs. 110 &/ (b) Rs. 115 & &

(c) Rs. 150 & (d) Rs. 200 &+

Q.No.22. Which of the following is a trapezium?
?4‘_,.'53}35‘){5' U'L‘J/GU:J.. R {O%)

(a) (b) / \
© (d) D
Q.No.23. Area of the given square region is:
24‘-,3'/(LU&L}'3/{Z~L;
10cm? 14 cm’
(a) d8e  (b) %4 —
(c) 40cm’  (d) 100cm’

Q.No.24. What will be the sum of 4 nhumbers, if
their average is 80?

61557 61 80 L1 Solu14.S]

(a) 76 (b) 84

(c) 220 (d) 320

Q.No.25. The given bar graph shows the marks

obtained by Ahmed in his December test. His

obtained marks in Urdu are:

-t L2/ ot o Bl a1t SN ses

- /f"o;/v" lauﬁ»/lé
(a) 20 (b) 30
(c) 40 (d) 50
g . 50
3 :2
§ 33

Science Maths Urdussd English

" $2 i

Subjects Ll»

S
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Paper

Science

School Name (EMIS code):

School Based Assessment 2021

Tehsil:
Student Name:

District:

Roll Number:

General Instructions:

(1) Use mask and keep 3 feet distance from each other.
(2) Read carefully and attempt all questions.

Section:
Date:
2:«&&63’_&&,}”
I AROBLV SN )
_Q/J’:«UV(U}A'J?Z:_/;’

(3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the exampl%given below.

Example: Covid-19 is caused by:

(a) bacteria | /:*;”C

(b) fungi Jli’ @ virus J7/s

e WIS e o2 EL D dEU
24‘-.73(,{ 19-5s5 :J&

(d) algae ./

(4) If more than one options are encircled in a question, no mark will be given.

_Ké_lapufi’/éﬁ _U‘,Lﬁa/’l»fﬁcal,lfv.l,}z. ..guﬁdlr“fm’

Total Marks: 50

(Multiple Choice Questions)

Total Time: 1 Hour

Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part. Each question carries two marks.

UL Dt L s W JEWE (25) U s

1. Identify the bird from the given figures.
-U,,'/@’ &‘Jz_ﬁ{c-;:lﬁd}@»

2. Which statement is true about invertebrates?
S eI L s S S
(a) All have no backbone La&nuﬁ}d@szjJ_/
(b) all have feathers (f & s, L
(c) Al have gills Ut & s B2

(d) all have lungs f & s 4%l

3. The animal shown in the ;. 715 #9562
following figure breathes ") "~ "

through..........
CHTN

(a) Skin 42 (b) Lungs < 2%
(c) Stomata b+ (d) Gills CQEEES

~ ————

4. Which animal can live in both water and land?

?c‘_fﬁuufu)»ﬁﬂ&kﬂﬂglrufé e

5. Which organisms grow and feed on dead material?
N %.J/U}uk/&u{ (2 i L‘J/

(a) Algae and fungi Jljf;»kf!

(b) Bacteria and fungi \ 2&.s/3¢

(c) Bacteria and virus J71ssll <.

(d) Fungi and Virus u’}lwtég?

G Which of the ollowing. £ A1/ (tlise

microscope?

(a) Gold fish A~ (b) Ostrich {5

(c) Virus J/1s (d) Whale %
7. Identify the false statement for microorganism?

BSOS IR I

(a) Nonliving things (L*114k #(b) Living things 1Lk
(c) Cause diseases t k% (.k:(d) Distributed in air bk L il
8. Which type Ofdiﬁtf(:’u’w’/cﬁéd’fc'

pollution is caused by
burning of fuel?

(a) Land pollution ST (b) Air pollution Syl
(c) Water pollution diﬂd/ dL (d) Noise pollution @7&;

fe 8}7 L4
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9. By which method air pollution can be controlled?
?4‘_‘? lag,(;’ﬁ’c.ﬂ;. 2 J;u’féln
(a) disposing off wastage JE g4/ )15
(b) to clean water £ S5l &E
(c) burning of waste Sede 3
(d) growing more forests /¥l (€205
o o e e L e Ui e S
given figures. Uk v""(‘j’ (I %

@ | C (b)
© o
o000
() 9000 (d)
O o 00O

11. By which process L s
particles move faster anci“/’:, .. jjj‘”.w{//
move away from each other? ‘U< /= 7gksme

(a) Cooling « Sk (b) Heating < .7
(c) Condensing :,J}ﬁ (d) Freezing < &£
12. The process Ofdl-{i-/r’ffu‘ﬁ)f«ﬂgyu

changing solid into liquid

on heating is called: 34‘-311?(:;-}";;1&1;@
(@) boiling L/ (b) melting "3

(c) freezing sL5 (d) baking &%
13. Identify pair of third kind of lever from the following:

e 2l JES S A S e S o
(a) Hammer, Pliers (J1k«($/s*
(b) Nutcracker, wheelbarrow ($7€57JTulsLJ 31\
(c) Hammer, scissors GoeS
(d) Broom, arm sl il
14. Which is the disadvantage of friction? ?§_vu/uuﬁ ¢

(a) g_.:ﬂ{-(b) _ﬁ,(c) qm (d) ®

15. Least friction is present in: :‘Lém,eriﬁﬁ’;.b.z
(a) Rough surfaces - u}” S /J/
(b) Smooth surfaces U< u}’/ (’LL
(c) Oily surfaces ui‘u}’/ u‘g

(d) Deformed surfaces % uﬁb@ﬁ

16. Which one of the following has large
gravitational force?

’ ?J)’m&}a.qy&y&/(auﬁgfj@»
(a) Mars (o7 (b) Earth ¢
(c) Moon 44 (d) Mercury d//

17. When light falls on an opaque object. What
happens to the Iight??‘at‘nﬁ%égéﬁdlﬁﬁ; Lf( 631_.0
(a) Light can pass < (5 S5 _
(b) Light cannot pass G‘Cu'i;f’ﬁ/ )
(¢) Light bounces back ‘aﬁtg 7;,&-"/:&3/ .
(d) Light passes partially ‘L&l.a/y/{.j}bdjfg}:}/
18. Choose the pipe in which light ~ —

can pass easily, arrows represent
the direction of light:

(j-‘caﬂ,ﬁ&m@,u:muwﬂm
-‘ct,&w/ad/&u[ﬁ

@w (X @Y (d)Z

19. How eclipse is formed? ?‘gtid:u"f

(a) When the sun and the u_'ll,a"ui'(:“r/buﬁim@mﬁ

earth come in straight line ™ * =
u:tgfuﬁ(f‘/buﬁmug‘am,e

X —»

(b) When the sun, the
moon and the earth come
in straight line

(c) When the sun and the

T B it
moon come in straight line bl fﬁ/ O g
(d) When the moon and the

earth come in straight line o L?’utf"ﬁ/bdﬁwu"b"g

20. Identify the electromagnetic device from

the following. _q/..:étﬁgf,li’dé ke 3ot 5oir
(@) Iron w77 ) (b) Electric Heater /’;zJ}.al
(c) Electric bell *_&1 (d) Bulb -t

21. Which instrument is used » . . ,, SIS

for the measurement of - N
electric current in a circuit? ?%G‘?JUJ E‘«:Jé"]
(a) Fuse J# (b) Ammeter ~ I
(c) Key & (d) Battery §%

22. When current passes through the coil of an
electric bell, the coil becomes:

- bl o}]r‘_t'(&/u?;ufgj‘/lfgfé;é/
(a) Magnetic compass L?._..‘H"J‘-'b ¢ (b) Armature e,

() Electromagnet U2t 3,  (d) Switch &
23. Which one of the following is true about Moon?

?C‘_MJ)&LUUILBL;‘LIELJ:J)'@JJ
(a) It is a star oLl ‘
(b) It has its own light La&nd%/d;'d/w
(c) It has hot gases ‘auf Kursz);
(d) It revolves around planet ‘Lt")éf/zg/.[:»:
24, Earth is a/an: - Ll
(a) Planet o, (b) Star s,
(c) Comet (umbp)_f’// (d) Asteroid 1,51
25. Which of the following is a red planet?
?‘Luyf//l/u{LuﬁJj.yﬂ
(b) Venus s
(d) Mars &

(a) Mercury »s
(c) Earth ¢
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Paper

Science

School Name (EMIS code):

School Based Assessment 2021

Tehsil:
Student Name:

District:

Section:

Roll Number:

Date:

General Instructions:

(1) Use mask and keep 3 feet distance from each other.
(2) Read carefully and attempt all questions.

(3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example

Example: Covid-19 is caused by:

(a) bacteria L /._i.?
4)

(b) fungi 0 ((0)) virus u1

If more than one options are encircled in a question, no mark will be given.

Ludfié,u’
u’i’/,l-awasﬂjuﬂ,uﬂ..m

J/U’VUV VJ}'J"/:—/}’

iven below

_awLIJ/U‘JVJd;LfWJ lﬁo/l;/_.l? édly’(}&'ﬂl/}
Li)‘; 19-501 &

(d) algae ./

Ll A I I S = iznshie LI

Total Marks: 50

(Multiple Choice Questions)

Total Time: 1 Hour

Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part. Each question carries two marks.

-u"/‘»LJl//-u"zgﬁuﬂb’db’ﬂ’/‘((zﬂﬁwﬁd’ [

1. What is the one characteristic that
distinguishes snake from all other reptiles?

"Ld/’/..ﬁ’lﬁ.u»:’lebf;rf_/»:(-.fl/ir_._w‘y‘"..f(fufs
(a) Dry skin Je (b) Thick Skin ,&dg‘
(c) Laying eggs k2« &' (d) No limbs trﬁu;‘f

2. Yeast is the example of: a_db“ﬂ/
(a) Algae J/Lff (b) Fungi udb’
(c) Bacteria | 2% (d) Virus Suts

3. Identify the vertebrate from the following animals.

_L):/(ﬁi wdﬁ) by e L):J~36J}

Egg W N

X Y

(Y ? =) %

(d) z W X Y z

4. Identify the monocot plant from following.
_u‘//_) l:f—'d/z_){:«ﬁr‘

@ © O(d)

5. Which of the following is an example of fungi?
‘.‘q_dufdﬁ‘d/ Jb’c-pﬂ'.' J.’. Souu
(a) Algae (b) Bacteria
(c) Yeast (d) Virus

6. An example of bacterial disease is:
e Jedsed &
(a) Influenza 154 (b) Polio =4
() Typhoid 47t (d) Ringworm st

7. Which one of the following diseases is
caused by virus?

‘2‘_dﬂngL.wJJ/bijk:UUl(Lu:J:Ln
(a) Corona £ ) (b) Food Poisoning .75/1;;3’

(c) Pneumonia ¢+ (d) Tuberculosis Jd
8. Which harmful waste material is added in
air, water and soil?

St oty QLIS B LUt Gondln
(a) Pollutants x4/ (b) Water vapours =7

(c) Cloud st (d) Smell +
9. Which of the following is bacterial disease
linked to air pollution?

?c_._ﬁr*;.(f:‘lJ’ﬂiadufdjl:Jﬁ?;.Jmey
() Polio «'y (b) Influenza /¥

(c) TB J¢ (d) Ringworm st/
10. Which one of the following is the property of solid?

?ﬁ'—JJ)‘;’wbefu{c.pduEﬂ“’d)C»
(a) Have no definite volume t'rg’?ﬂ S
(b) Particles are tightly packed (& se #2L-L (S lis
(c) Have no definite shape (s %) %ﬁﬂ"”
(d) Particles are loosely packed & » % #4L-L FrZielss
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11. Which of the following processes is
opposite to condensation?

) VLJW(JJIVU/LJJ;C/)
(a) Melting Wg (b) Freezing (£
(c) Evaporation 4}’  (d) Sublimation ,gf)f
12. What are the properties of matter?
?ujdui/:«kar”lfg;l.
(a) Have no mass but occupies space . b2 (e /”‘Lug ug;/
(b) Have mass but occupies no space at /;uwﬁg e ) et
(c) Have mass and occupies space <t /jf ﬂgﬂ, - 0 J

(d) Have no mass and occupies ct/_bﬂ,'md”_‘/
no space

13. Which one of the following is the
disadvantage of friction?

?ﬁ'..l/d/dlﬁ"(:,«i '/L(j“ Soukr
(a) Walking on ground 2 s~ (b) Writing ol

() Wearing out of tyres t45€57¢ (d) Stopping &7
14. Which one of the following is a
disadvantage of friction?

~JIGEEEUSL etlpe S 50
(a) Walking on road (.
(b) Writing on a paper w@»'b/
(c) Igniting a match stick WE/UL’ SU3
(d) Wearing out of shoes Llpu‘{ KUIR
15. Identify example of first kind of lever from
the following figures.

..Q/@)Lﬁ'Jf:&:Jr/:c u’:;JL.;u.}.yﬂ

(@A =

(b)B X) ;?

(©C

(d)D A B C D

16. All are the advantages of friction EXCEPT:

Ll AL el
(a) Use of Brakes to stop vehicles J&16_L s L u$2¢
(b) Write on paper w@xb/
(c) Help us in walking LJu.u"ﬁ

(d) Noise produced in machine sl CEt

17. When the earth comes between the sun
and the moon, it throws shadow on the
moon and:

8 L e B3 ph e it e Qb Toend st
(a) Galaxy is formed ‘af{* e 3
(b) Solar eclipse is formed La[fe/"/’a/}”
(c) Lunar eclipse is formed ..T._C@Ui' b
(d) Clouds are formed ¢t 2 s\

18. The most important property of light is that it:
q-:aa‘)"?gf GL:.,-«’J(?}J
(a) travels in straight line J/"uﬁfyﬁ}
(b) travels in zigzag manner .—:f}duf 3
(c) travels in perpendicular direction /7 % es$2s?
(d) travels in parallel direction /7 % e$15
19. Which of the followings™t 2 = Ut s o
is a NON-electromagnetic -GBS
device?
(a) Electric Bell 6‘; @,: (b) Electric Fan %@/
(c) Bulb 4 (d) Washing machine S,
20. Electric current means the flow of free
in a conductor.
IV B IR Y,
(a) Neutrons 71/« (b) Protons s,
(c) Photons 4+ (d) Electrons 554
21. Which one of the following is an example

-3¢

of static discharge?
Se Sl b3 dad ba Uit st
(a) Rain U/ (b) Earth quack J.’
(c) Volcanoes U7 (d) Lightning FaeT
22. Which of the following component is used
as switch in an electric circuit?
fe l‘mdlapl{J?Léyuf&?.f/*guibd/;uﬁ;b@»
(a) Fuse s (b) Key
(c) Wire ¢ (d) Battery &
23. The planet which is nearest to the sun in
planetary system is:
:%Q’}u,;}ﬁéjfﬁuyufgf’?lﬁ
(a) Mercury sk (b) Venus s
(c) Earth ¢ (d) Mars fy/
24. Which one remains stationary from the following?
te bt/ L Lt soe
(b) Earth ¢
(d) Jupiter §
-
(b) Planet (-
(d) Meteoroid %1,(&:

(a) Sun ¢
(c) Mars fy/
25. The Sun is a:
(a) Star ot~
(c) Comet o.01us

L1
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Social StudiesE

School Based Assessment 2021
School Name (EMIS code):
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions: el LW
(1) Read carefully and attempt all questions. - JF aﬂler713lJf = 4
(2)  Encircle the correct option of each of the Multiple Choice Questions {MCQS) as shown in the example
given below. _ngwjufdti'g?/ d;éf e 6,}!,{?mé‘£dlyd§'1jl/§’;;
Example: Which country is located in the north of Pakistan? YQdI;JVUJ(JJF”LuB@ Je
(a) India = (b) Afghanistan &G/ @ China (7% (d) Iran Yl/!

(3)  Use black/blue ink for writing. Use of lead pencil is not allowed. . ) .
_c‘-u.?(ajlglgfdbpléﬁu{_q}vbpl(dbﬁu&:/dKg{.éé
(4) If more than one options are encircled in a question, no mark will be given.

£z lg.l‘)d.?{;:}(j)’/; yﬁkﬁaﬂ:}fé:«@'}?uy;. «.«ggﬂdb’ﬂ

Total Marks: 50 (Multiple Choice Questions) Total Time: 1 Hour
Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part. Each question carries two marks.

UL p s i SN (25) Ao el
1. A representation of the features of an area | 5. Which valley is located between the

of the earth on a plain surface according to mountains of Karakoram?
a scale is called a: ?%d’?tfd/d?/’éu’j%éf;';
;%bM/ﬁ&WLthalﬂﬂﬁwuw/Luﬁj (a) Mansehra valley Js”\ (b) Jehlum valley J(w
(a) Globe —sf (b) Land o (c) Gilgit valley S=&  (d) Ladakh valley § {1
) ot 6. The Karakoram Highway was built
() Sea e (d) Map =~ . between two countries:
2. Types of Maps are: 2({3(@!({(};‘1 :fu(/:puwéuﬁ»“r}l}ay;&“
(@) two » (b) three ¢~ (a) Pakistan and Afghanistan ¢/I6isigtS|
(c) four J& (d) five ég (b) Pakistan and China c,@mut“fg
3. In how many time zones, world’s time is (c) Pakistan and Iran ol st
divided by longitude? (d) Pakistan and Saudi Arabia ;/d;mnurf |
?§_b|?gﬂ.:”utu;J(’E£:3:K Pre 5ULZ ik J# | 7. By using gas instead of petrol in vehicles,
(a) 12 time zones uﬁuu‘f’tblz wecan re“ uce: . . 7 , p
(b) 16 time zones st 16 3@51626‘}:-4/0!#'%;15;@/;%%/(
() 24 time zones UwsJ#t24 E:)) TP::qlztf:Z 27 EZ; EZE;'?S?P St
(d) 36 time zones ui‘uu‘(t'36 8. Allama Muhammad Iqgbal delif\;ered the
4. How many continents are there in the world? sermon of Allahabad:
.?&.{5' : ’/-2':-(&.):'.['.’J 2},»@0'&.&5‘;&;"'4&0&
(@) Two » (b) Five &L (a) 1919 LA A (b) 1923 U5~
(c) Seven =\ (d) Eight #7 (c) 1930 (L= (d) 1932 U2 A
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10.

11.

12,

13.

14.

15.

16.

The government and rule of the army is called.
. (LA Bl § 9
(a) Martial law U 7\

(b) Public government ;/);u’ ¥
(C) Two person government =21 s

(d) Anarchy «r|
In which election, All India Muslim League
defeated all the opposition political parties?

ORI F I S g BTN ST
(a) 1919 (#17| (b) 1927 £ s

(€) 1937 U554 (d) 194546 U1z A b A
The Lucknow Pact was settled in:

. oy
(a) 1905 &>~ (b) 1911 st/

(C) 1916 Jsw?I (d) 1919 A1
The basic reason for the demand of
separate homeland for the Muslims was:

Er$idd L it u'i»j L L s
(a) to follow customs and rituals Sz J Llass
(b) to get lands U+ Us¥
(c) to form Islamic Government [z ns@ S L

(d) to get Government jobs. L/} bUL/s Jd/b//
The highest court of Pakistan is:

PR
(a) Supreme Court .«//( e
(b) High Court s}t
(c) Session Court .«Afﬂ’
(d) Federal shariyat Court /LS, 36
An institution which decides according to
the law is called:
e bl S F bl I8z
(a) Judiciary ).« (b) Legislature &
(c) Administration .~ (d) Tribe *
What is the concept of administration in Islam?
V%g/ﬁ(gf@luﬁrﬂ/l
(a) Justice, discourage minorities, peace
S her SUsHI L
(b) Peace, Justice, equality «lslsc Ll
(c) Justice, inequality, peace ¢/ e lslrue sl
(d) Brotherhood, peace, favour of majority

tjlj)/.:«;?/ruf’ru.l‘gélé
Computers are an important invention of
which century?

Sl Sam

(a) Nineteenth (/=1

(b) Twentieth (] »=
(c) Twenty one Jr‘/

(d) Eighteenth (/».5/

17.

18.

19.

20.

21.

22,

23.

24.

25.

Television informs about:
(a) Accidents only « = ksb3”
(b) Jokes only = (i3~
(c) Excursion only = &%~ 2
(d) World events « = &isd_fsd_stléas s
Fairs are held in rural areas:
i b B U Gl
(a) before crop grows & = &1
(b) after the crop grows Wl LS
(c) before harvesting of crops &Ldlf s
(d) after harvesting of crops ey J"
Punjab province is ranked in terms of population
‘e bl UL GV
(a) first wy (b) second /.
(c) third 1= (d) fourth Bz
Eid-ul-Azha is the time of ziarat for the
Hajj pilgrimage to: :K.wpq_:}uf_éal;%w
(a) Egypt & (b) Makkah J.&
(c) Traq $Jv (d) Iran Juizi
The Muslim observe fast during the month of:
:,L_ugijuuuu/
(a) Muharram ¢/ (b) Shaban wi=*
(c) Ramazan yl&u (d) Safar 4
The festival of lights of the Hindu

:4‘_1;'.6/57;@2,&'

community is: :c‘_/lx?Ku;;'f’;/Kuﬁm
(a) Diwali {1y> (b) Holi s

(c) Christmas Vol (d) Basant

The famous city for Sohan Halwa is:

2‘Lf/f L L by

(a) Lahore .l (b) Multan ¢/t
(c) Sahwan sahreef & #u»~ (d) Bhat Shah sl>e.s
The main source of earning foreign
exchange is: e 25K Ul
(a) exports = luTs (b) imports < LT
(¢) industry «»> (d) agriculture =#1.J
Public goods mean all those goods which
come under the control of:

LVﬂd;/':;u’u*L/erw/aL/ld/K/
(a) The common people 653/t
(b) The Government £ ®
(c) The traders Us2t
(d) The farmers UL
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Social StudiesE

School Based Assessment 2021
School Name (EMIS code):
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions: el L
(1) Read carefully and attempt all questions. - s Uler715luf TS
(2)  Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example
given below. -c‘_k@lﬂﬁuﬁdﬁ'@/ d;éf l,;wu; €» }‘I,{H,lzédédly&ﬁjl/?;;
Example: Which country is located in the north of Pakistan? ?c‘_dl;bﬂl/u:(ufdtf’éub@ Je
(a) India =, (b) Afghanistan & @ China (2% (d) Iran Yls!

(3)  Use black/blue ink for writing. Use of lead pencil is not allowed. . ; .
_c‘_u.?(ajlgl(,(dbpléﬁt){.q}vbplﬁ}bﬁu&/d(q{.éﬂ
(4) If more than one options are encircled in a question, no mark will be given.

bl A I s S = inslie LS

Total Marks: 50 (Multiple Choice Questions) Total Time: 1 Hour
Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part. Each question carries two marks.

UL Dt L s W JEWE (25) U s

1. The equator represents the zero degree from: 6. An area of a lower height than mountain
. I with uneven surface is called:

(a) pole :_uj” (b) axis <& ~4_wf3umﬂ/umﬁ~_m
(c) latitudes < 4k _ e e "
(d) center of pole = wnd 2 (a) plain Jies (b) plateau & &

2. Globe is the model of: ‘e Sile f (c) desert |~ (d) coast S1-
(@) Sun € (b) Earth 6% 7. Where the highest rainfall is recorded due
(c) Stars 6.t~ (d) Moon €% to monsoon?

3. The correct list of Pakistan’s neighboring | ?c.&aJbé/gfjga:p::..-./uyfc—mfurur
countries is: :c‘-:/ju»gfuﬁ,wéul‘;@ | (a) Gilgit _;ﬁ{ . (b) Karachi ci'/
(a) India, China, Iran Wil el )
(b) Afghanistan, Russia, Bangladesh s« ue sl (C) Murree &7 (d) Lahore !
(c) China, India, Saudia Arabia — f5s et 8. Name the city, where the foundation of All
(d) China, Srilanka, Iran Wiyl€J5 % India Muslim I./eague was laid?

4. Which country is located in Ehe east of Pakistan? {f;y&_ﬁry .lzildful{zujt;rtﬁu'l

te O bLud AL U] (a) In Dhaka “/l>3  (b) In Shimla U

(a) India = (b) China () In Lahore “usci  (d) In Allahabad _ 7

(c) Afghanistan @yt (d) Iran l/f

5. Murree is located in the mountain range of: 9. The moon revolves around the earth in a month:

e sy, e bR L SL it
(a) Karakoram (217 (b) Hindu Kush Sk (a) one time JL{ (b) two time s
(c) Himalaya Jt (d) Salt Hills s (c) three time /i (d) four time Ll
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10. Main difference between the Hindus and
the Muslims which laid the foundation for
the creation of Pakistan was:

:u;’:,{igfultz_,.rKut:@rg,z‘jjd)y‘.uuy/;éu)%nufm
(a) Social /b (b) Religious (54

(c) Economical (b (d) Political 51
11.In 1930, Allama Muhammad Iqbal
delivered a historical sermon at:

B LAk 21930
(a) Lahore 1 (b) Allahabad s\ 7.
(c) Lucknow g (d) Karachi &/

12. The most important reason behind the
creation of Pakistan was:

Bt il K| ngg
(a) Religious conflicts < kL
(b) Urdu Hindi conflict <8z
(c) Attitude of British ¢ 5. szl
(d) Cruelties of Hindus A6+ Usse:
13. A set of rules and regulations is called:
(e AL wiviel
(a) Law ¢s6 (b) Constitution ¢ T
(c) Federation Jj6s (d) Parliament <.
14. Each province has number of members in senate:
e Sl Al exd Ly vy
(a) One fold t/_(i (b) Double /3
(c) Three fold &z (d) Equal L
15. The main hurdles in the way of progress of
Pakistan are:

g AUt B8l
(a) poverty, illiteracy gﬁcl}tjsl.:f, f
(b) loans, lack of self-reliance u@/ Sl s 2
(c) pollution, shortage of Land u{fuﬁ‘hdﬁﬁ
(d) all of above (el 2.
16. The fastest source of information is:
%élkl%’/;qjﬁ
(a) Internet wu%! (b) Television w¥s(

(c) Postal services p/fg (d) Radio 44
17. A means of communication will be more
useful if it is:

s L Unadrnsl s WIEL3
(a) slow and cheap -usle~
(b) fast and costly &L 0572
(c) cheap and fast JU Zsll—
(d) beautiful and cheap t—usle <5

18. Living together of the people and showing
their recognition under specific customs is:

2‘Ltb/ruéli‘;@IJLZ'/I)A(QJ,"‘%}IQ//J{JKU}O
(a) civilization —z 47  (b) culture =3¢
(c) language yuJ (d) caste =15
6th September is our: ‘e Ll 6
(a) Pakistan Day o/t-/L ¥ (b) Labour Day sy

(¢) Independence Day d)iil’(g (d) Defense Day Z/G;rg
We celebrate the urs of Hazrat Data Ganj
Baksh (R.A) every year at:

L P el 22 b Yl Z1a
(a) Lahore .Y
(b) Multan ¢t
(c) Sahwan sahreef —u ~ &~

(d) Bhat Shah s>

21. The reason of the people of Khyber
Pakhtun khwa for their bright chapter in
history for their:

:JU"C‘-»-?’JHO«LC}ML@JVJU!?Z:M;%/:?
(a) bravery sl (b) cowardice 4>

(c) sympathy $su (d) bravery and sacrifice 3L 2siSnl
25th December is the birthday of our which
national leader?

?C‘_U)%;/VJL;UU}JKLJL’Z/; 25
(a) Allama Muhammad Igbal J§Lé..
(b) Liagat Ali Khan uud‘c}y
(c) Quaid-i-Azam Muhammad Ali Jinnah cted‘jr}’"u’ts‘
(d) Ch Rahmat Ali =z
23. The Muslims celebrated on 10th day of Zilhij:
:‘;“:Lbﬁu;ééusu’;uu/

19.

20.

22,

(a) Eid-ul-Fitr pdix
(b) Eid-milad-ul-Nabi (5”1s ks
() Eid-ul-Azha Ui
(d) Shab-e-Miraj &/ =>
24. When the lack of resources are hindrance in

the way of economic development, then to
run the administration, the government gets:

<P L FrPerfinSostind 56 cncbffin
(a) Zakat 547 (b) foreign loans & } sz

(c) Interest »» (d) charity =64
25. Which controls the imports and exports of
Government of Pakistan?

?4‘_t/d;}-”’u/:,w’/wlol,«&Jut:@yﬁ
(a) The Bank of Punjab — k3T (>
(b) State Bank of Pakistan ot-/| STk
(c) National Bank of Pakistan ¢t/ T S
(d) Baking Council of Pakistan J% o/l
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- Ob----due i L (B) ()
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di (D) g3 (© e o reen$bWe Ul 25 2
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